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March 1ist — I with List - 1T and select the correet
answer using the codes given below the Tists ¢

List— | List - 11

[Vegetation Type) {Region)

A. Magquis L. California

B. Fynbus 2. Medilerrinean
Sea Coustal
Region

. Chaparral L Bouth Africa

D, Muawral 4. Chile

Codes -

A B C D

) 2 3 1 g

fhy 4 E S |

L

fdy 4 7 4 I

Match List 1 with List

Il and select the correct
HARWEL using the codes piven below the lists |

List —| List =11
(Country 1Capital)
A Uzbekisian I Tushker
B, Tajikistan 2 Dushanbe
UL Kyrgyzsian Lo Bishkek
M. Turkmenistan 4. Ashegabat
Codes :
A B C D
fay 1 2 3 4
iki 1 2 4 3
fe) 13 a4 2
idy | a4 2 3

Mateh List — 1 with List - 11 and select the correct
answer using the codes given below the lisis -
List ~ |

List— 11

(Natural Vegetation) {Region)
A. Epiphyies L. Mediterranean
B. Acacia 2, Egquutong
L. Baobah 3. Sahara
D. Cedarg 4. Savanna
Codes :

A B C D
@ 2 3 4 |
by 2 3 1 4
) 2 4 13
d 2 4 1 3

O 0 0

= - 1w - 1 f gilee fifa T g
4 fow 7§z & 0@ T qf@

-1 " - 11
(A TRITR W) (87)
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4. Which of the following is NOT correctly matehed
('Tribel iPlace)
(a) Pypmy Congo busin
(b) Angami Nugaland
(el Ainu Lapan
(d) Khirghiz Suddan

Given below are 1wy Statements
il
Asseriom (A) and

Assertion (A)

one s labelled gy
the oher ys Reason (R),

: : Indian Ocean has become the
Military bases many big powers,

Reason (R) : There is STONE geo-palinca]
benefits in Indian Ocean and adjucent counires
Select the comect answer from the codes piven below -
Codes :

{a) Both (A} and [R)are true and (R)is the corregg
cxplanation of (A)

(b) Both({A)and (R)aremue. But{R )15 not the comect
explanation of (A}

() (A) is true, but (R) is false

(d) (A)is false, but (R) is true

Which one of the fallowing is the correc! sequence of
the hills of Central [ndia [ocmed fom West 1o East
{a) Maikal, Sarpury, Muahadeo and Chhownigpur
(b} Satpura. Mahadeo, Maiks! ond Chhotanagpur
{c} Maikal, Mahadeo, Satpury and Chhatanagpur
(d) Satpura, Maohadeo, Chhotnagpw and Maikal

Given below are two statements, one is lobelled s

Assertion (A) and the other as Renson (R).

Assertion (A) : The highest concentrution of

Seismic zones lies in Himalayan regiun in India.

Reason (R) : There are many longitudinal thrust

zones in Himalayas.

Codes :

(a) Both (A)and (R) are true and (R) is the comect
explanation of (A)

(b) Both (A) and (R) are true, but {R) is not the
correct explanation of (A)

{€) (A) s true, but (R} is false

(d) (A)is false, but (R) is true
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10

11

13

‘Tmphal Basin® surrounded by Manipur hills is a
fine example af
{a) Lacustrine plain

(b} Loess plain
{c) Cilacial plam

(dy Alluvial plain

Which of the following rivers is famaous for its fault
villey drainage ?
(a) Chambal

{c) Gandak

(by Damodar
(d) Ramaganga

Which one of the following natural regions is known
as ‘Land of Big Games'

{a) Temperate Grassland

(b) Tropical Monsoon Region

(€] Hot Desert Region

(d) Tropical Savanna Region

With reference 1o the Himaloyan range. which of
the statements isfare correg| ?
I The sedimentary rocks of the Ereater
Himalayas were fossil Jess,
2. Marine livings fossils are found in the
sedimentary rocks of lesser Himalayas,
3. Remains of human civilization are found in
outer or Shivalik Himalayas.
Select the currect answer using the codes given
below ;
Codes ;
tal 1 and 2 only

thy 2 and 3 only
fc) land 3 only

2 and 3 arecorrect

Given below are 1w stutements. une labelled as
Assertion (A) and the other as Reason (R),
Assertion (A) . Akbar. like Shershah, tried 1o
regulare the curvency of the state.

Reason (R) : As in Shershah's currency, the chief
copper coin of Akbar’s time was the Dam

Select the comect answer from the codes piven below
Codes :

(a) Both (A)and (R)are true and (R} is the correct
explanation af (A)

(b) Both(A)and (R)are true. but (R) is nor the correct
cxplanation of (A)

i€} (A is true, bur (R s false
{d) (A} is false. but (R] is true

Arrange the following battles in ch ronalogicul order
and select the correct answer from the vodes given
below -
I Batile of Sarnsl
Il. Battle of Bilgram
11. Baule of Dharmat
IV. Baule of Jajay
Codes

:
(@) W, I m, v

M) IL ML 1V, 1
e) L IL 1, 1V ]

(d) m, [, 11, 1v

10
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With wfer_encc 0 Hath Yog, which of the fullowing
slAlEment IS/ comeet
_l,. unt: ::"ug w‘:!s pracuced by Nathpanthis,
= S:ﬁ* up technique was alsn adopied by 1he
t::::;:: !IIC correct answer using the codes given
Codes :
ta) L only
(b} 2only
(c) Baoth | and 2
(d) Meilher | nor 2
“'I'!.i-w:h ane of the following 1s NOT the charactenstics
of “lgta System” 7
(a) Iqgta was a revenue collecunn Syslem
(h1 Siyasamama was the souree of information
for Igta System
(c) Revenue from lgta was directly deposited in
Sulltan’s account
(d} Mugti was supported o mantun Toops oul of
the revenue collected from Igta
Which of the following is NOT correct |y matched ™
{Books) (Writers)
ia) Tabagat-i-Nasin Minhiay-us-Siraj-Juzjam
(by Turikh-i-Firozshahi Shams-i-Siruj-Alif
(¢} Tughlognama lbn Bamurs
(d) Humayunnami Gulbadan Begam
In which year was the Native Mumage Act’ passed 7
(a) 1870 (b) 1872
(c) 1874 (d) 1876
Maich List — 1 with List = Il and select the corect
answer using the codes given helow the lisis
List -1 List-1
{(Movement} (Year)
A Pabna |, 1B55-56
B. Eka 2 |I873-85
C. Santhal 3. 1922
D. Tanas Bhagat 4, 1914
Codes :
A B CD
@y 1 2 4 3
w 2 3 1 4
© 3 1 4 2
d 4 3 2 1

5=

7T

Frugfet gro AT I 91 |

R W & i

freafaftan & @ sR-d v fafirew g

waaeyl 6 AR 7

(a) ¥ UF TAE UHiAq w3 @ sqEen o

ib) framamrm sa smaea &t FEEH F A o

(c) Fo ¥ umfAA e da qeA & w3
e ot

(d) el = s 8 e o #@ A
9z &

fafafen @ & s9-a aft gifaa iR
() (Prer)

(a) TAETA-u-TiEG  feEe-sw-foa

el

(by At -7 Rt 9 -u- -

() AT ¥= &qm

(d) T e

afra fAfea vae fen ad oifa fem m e 7
fu) 1870 (by BT
{c) 1874 idy 1870

gt 1w A - @ g e v gt
¥ 4= fg 421 @ @@ 3 o

= -1

@d)

1855-56

1873.85

1922

1914

:h-'.lﬂld'l'-

e = s a3 A
by b — M
= B W T
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19. Which of the foilnwing is NOT comectly matched 1
(Event) {Year)
fa) Indian Navy Act 1927
() Civil Disobedience Movement 1930
(c) Second Round Table Conference 1931
{d) The Communal Award 1933
20. Armange the following events in a chronological
order and sclect the correct answer frm the codes
given below
I. Appointment of Simon Commission
. Jallianwala Bagh Massacre
IT. Maharma Gandhi's Dandi March
IV. Death of Ferozshah Mehia
Codes :
(e 1V, 1L L I
(0 L i . 1
I m I 1
(dy Iv, m. I, I
21. The trial of the Officers of the LN.A, was held in
(@) Red Fort, Dethi  (b) Gwalior Fort
{c) Amer Foe, Jaipur (d) Agmn Fort
22, Given below are two staternents, one Is Jabelled as

Assertion (A) and the other ns Reason (R).

Assertion (A) : The Asiatic Socicty of Bengaul

was established in the period of Warren

Hastings and he modestly declined the offer of

Presidentship of that learned body in favour of

Sir Willinm Jones.

Reason (R) = Warren Hastings was himsell a

grent scholar and an ardent orientolist who used

to sncourage the study of Sanskrit, Persian and

Arbic.

Selert the comect answer from the codes given below :

Codes::

(8) Both (A) and (R) wre srue and (R) s the comect
explanation of (A)

(b} Bath{A)and(R)arstrus, but (R) i not the cameet
explanation of (A)

{e) (A)intrue, but (R) Is false

(dy GAYixfabae, but (R) ia true

19.

20.

21

a2

LU T

frafafae 4 @ F7-m o9 qufem o2 -
(9&=m o

(a) WA Foen wigas 9

(by wfET =M AEE

() T ienra wfrdm

() Omerfis favig

[ 30t
193
1931

o wemsli W FerEa ¥ SEtRm difin s
fry o a6t 1 W ot 3
|, | ATEm R A
1. Sferataren am ZanEmE
11, war=w) midh w6 =R A
1v. Rtrame wem & 77

L T

() TV, L [, LI
(b1 L, i .l
(c; I, M IV 1
idy 1Y, ML L |

aé vy, & iUl | qshaHl S T |
{ubm‘fﬂﬁl‘f,&ﬁ’ﬁﬁ (hy =TT BE T
(¢) FEREHE, T H (d) M W D

A 71 e fim o # Pl o @ FF A AW
e F W R wE TR

TR (A) T R wew S & = e
e ke o o sl T W afaen IR E
om 4 3w fage meen ) s = AT
w fem e

R (R) . T ERw g fagm e
= fam & we Wl o dege, W
o & EEd %) yeafk s |

1'(:
(o) (A 3R Ry A R K ot rywR (A
it =

(b) (A) ¥R (R) G5 wft £, 6 (R) WA A
w wf s T §

(c) (A)EH R, fFmy (R) VT
() (Aymem R, fesg (R T B
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with reference ta the Natanal Calendar, which of
the stalements isfure correct ?
|. The Nationdl Calendar of Induy o based on
Vikram Fra. :
2. The Nanonal Culendar 1 adapeed fre
Junuary 26, 1450, I 2l
Select the comec! answer usin
(a1 | unly
{ch Boh | and 2

g the codes piven he
thy 2 only B
{d) Meitbier | por 2

tn which yeur was aceounting separated from
auditing tivd Comptroller and Auditor General's
tash only remained conflined 1o auditing the
Government Accounts

(1) 1995 ithy 1977
(c] LO76 w1981

Who oppesed Manned Development {n India *
tal Mahatma Gandh (b Jawahnrlal Nehms
() I[ndigu Gandhi (d) Rujiv Gandhy

Given below are two slale mcnts. onc s labelled as
Assertion (A and the oiher as Reason (R

Assertion (A) : Article 30 of the Constitotion of
Indis does nost define the term "minories’

Reuson (K) © The Constiiubion recopnmises anly

linguistic and religious minonities.

Select the comoat answer Inim the codes given helow

Codes ;

(4) Both {A) and (R} are truc and (R} is the
comect ¢xplanation of (A)

{b) Buoth (A)and (R) are true but (R} is not the
comect explanation of (A)

(¢) [A)is true, but (R) is false

{d) (A} is false, but (R} is rue

With reference to the federal sysiem in India, which

of the statements isfare carrect ¥

1. States have na right W secede from the Unson
under the Constitution of India.

2. Just advocacy of secession will have the
protection of freedom of expression.

Select the carrect answer from the cades given

below :

{a) | only

(c) Both | and 2

(b 2only
(dy Meither | nor2

Which of the following is NOT comectly mau.'hed ?
{a} Public Hesalth and Sanitation Stute List

{h) Census Union List
{c} Allocation of seals Second
in the Council of S1ates Schedule
(dy Anut-Defcction Tenth Schadule
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F T FaA W T aw Hifm o 2

{a) 1975 thy 1977

wy 1976 (dy (981

w8 P frwm = frity fem e 0
() WEEEn i (h) TEHETH 456
ey 3em id) |

4 71 we fau o B fad 0% ®) wE (A A
ZE =t w9 (R)E TR

oA (A) vt SR w1 T 30 FETAETE
ari wee F ufowfes o s R

W ( Ry U e M i uriie semiEs
= F1 Gr=rn YRR FE R

:E_}E (A 3l ry gt w8 & MRy wua A &
A = ¥

th) (A) 3 (R) e w8 R g (R EER (A B
wlft wE T &

() (A=t & Reg (RyTem R

{dy (A) T B R (Rl B

st HarrE suwen & e § Psfefan § @

wrT-w E R/ 7

1 wdm mfaum % aiia T W H § We
#14 w1 fmw TE R

7w B e W W i R
i A gon B |

Y g gr ¥ A 7l IR T @ A

(a) daet | () ¥ 2

ey 13zt () AW 1 RTRL

Brerfeften # 3 #-w @ gafem i R 2
(a) R e @ e tﬁﬂ'{iﬁ
(b) SEATTOE W W
(@) ven w § B deEm Rl o
(d) Zrmee fBdm ol e
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29,

o,

32

33

4

35

How many items are there in the | 1M Schedule of
the Constitution of Tndia ?

(a) 22 (b) 24
(c) 29 (d) 32

With reference to Prime Minister's Office (PMO)
which one of the statements sfare correct ?

. Ticame into existence in 1977,

2. Itis heuded by the Cabinet Secretary.

Sclect the comect answer from the codes given below ;
Codes :
ta} Only 2
{c) Only |

by Both | and 2

(d) Meither | nor 2

The provisions of the sixth Schedule of Indian

Constitution are applicable in which of the
following stales 7

(@) Tripura
(e} Nagaland

(k) Sikkim
i) All of the ubove

Which of the following is NOT conrectly matched 7

(a) Habeas corpus “Tu have the
bady of”

(b} Mandamus '"We command’

(e} Prohibition “Te be certified"

(d) Quo-warranto ‘By what authonty®

The Money Bill is defined in which Anticle of the
Constitution of India ?
{a) Article 109
fc} Article |11

(b} Article 110
(dy Article 112

Cross border oil pipeline inaugurated by PM, Modi
in September 2019 connects which of the ollowing

Cities 7

(a) Motihari and Amlekhgan|
(6} Darbhanga and Amlekhganj
(¢} Motihari and Kuthmandu
td) None of these

Yaipur was lisied as 'Warld Heritage Site' by (he

UNESCO ‘World Herilage Commintee’ in its 431
Session held in the city

(#) Baky {Azerbaizan)(b)

Bishkek (Kyrgyzsian)
(€} Istanbul (Turkey)

(d) Marakesh (Maraceo)

8-

29

30.

3l

32

4

as

U g

WTA S B A || et e g
ta) 22 ity 21

ie) 29 wdy 42
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1. The newly apponted Manoging [Direcror of TMLF. 15

b
=l

3.

30

41,

42,

(n) Knsuhog Georgieva iy Christine Lagarde

te) Raghuram Rajan idl Surjn Bhalla

The Natinnul Progrumme launched on Oc

: A = trber L,
2019 by the Indian Government 1o cm:mn:u e
tulented childien 10 enrich their <hills is =

(#) LAKSHYA (M PRATIBHA
(¢} DHRUV (dr PARIVARTAN

March List — T with List — 11 and select the corract
unswer from the codes given helow the Tists

List—1I
A Thomas Cook 1

List — 11

Recipient of
Bhurat Bharati Awurd

B. Greta Thunberg 2. Hong Kong Leader
C. Dv. Usha Kiran A Envirommental
Aclivist

D Carrie Lam Rutish Towe and

Travel Company

i

Cod

es T

A B C D
ta) |1 2 3 4
inh 4 2 3 1
[ 3 4 12
(dy 4 3 12

The 2019 Nobel Prize for EConomics was given 1o
a womin for the second time, nime the fisst woman
wheo was earlier awarded this pnac.

ia) Esthcr Duflo {b) Cierty 'heresa Coni

(¢) Muria Goeppert  (d) Elinar Ostrom

Rural Sanitation Straegy launched by Ministry af
Jal Shakti in September 2019 relates o which vl the
following periods ?
{a) 2019-2025
(c) 2019-2022

(b) 2019-2029

(d) 2019-2024

Cenirad Institute of [ndian Languages 1s Jocated w which
of the following places ?
{a) Vamnasi

{c) New Delhi

(b) Mysore
(d) Shimla

India sims to achieve lond degradation neutrality

by the year
(a) 2025 () Eﬂ
(c) 2035 () 2
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43,

45.

47.

48.

39,

Which Geosynchronous Satellite Launch Vehicle
was used by ISRO to launch Chandrayaan-2 space
craft ?

tay) GSLV MK I - M|

(by GSLV - MK I1-M2

{¢) GSLV - MK [V - M8

(dy GSLV -MEK V - M4

Which of the following statements about India's
largest Charkha is/are true 7

L. It was inaugurated in Noida.

2. Tris made of used plastic wasie.

Select the comect answer from the codes iven below
Codes -

{a) Only 1

{c) Both | and 2

th} Oniy 2
fd) Meither | nor 2

Which of the following organisms has white blood ?
(2) Lizard (b . Cowkrosch
{c} House bug (dy  Muosgquiin

Nitrogen fixing bacteria make combimuion with cells
of the mots of
{a} Pulses
(c} Whem

{b) Rice
{d} Sugarcanc

What hoppens when some charge is placed on a
soap bubble ?

(a) Iis radius increases
{b) Its radius decreases
{c) The bubble collapses
{d) None of the above

Which of the following pairs is NOT correcily
matched 7

{a) Oxytocin Hormone

(b) Aspartame Synthetic sweeiner
{c) MNeoprene Specinlized rubber
(d) Rayon Mouodified starch

Which of the following substances is NOT a protein
{a) Caotton

{b) Hair

{c) Spider silk

{d) Hool'
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A liguid remains hot or cold for o long ume in
(hermos flask because there s no loss ar gain of
heat by

ja) Conduction

(b) Cumvection and radiation

(¢ Both (al und (by

di None of the hove

whichof the fullowing glands in human hogdy sets both
as a endoerne gland as well us an exocrine .glaml ?
(a) Adrenal gland (bt Lacmimal pland

{cy Parcreas tdr Thyraid

which une of the following materials comains
coleium !

(o) China clay (b Corgnduam

(c) Gypsum iy Tale
Which une of the following s NOT correctly
matched 7
(Suhstance) {Use}
{a) Silver bromide artificial

photosynthesis
artificial ran
preatment of
rhe umatism
antavid

{by Silver iodide
i¢} Lithium bicarbonate

id] Milk of magnessa

Tulsi plant has medicinal values due 1o the presence
of the following

{a) Inorganic Acid

(b) Organic Acid

(¢} Phenols and Flovonoids

id) None of the above

Wha is true about ecosystem '

{a) Primary consumers are |easl dependent upon
producer

(b) Primary consumers are out-number producers
(c) Producers are more than primary cONSumers

{d) Sccondary consutners are the largest and

most powerful

With reference to Eutrophication. which of the following

statements is/are comect ?

1. 1t is a phenomenon of nutrient enrichment of &
water body.

2. It depletes dissolved oxygen of Lhe waler.

Select the correct answer using the codes given

below :

Codes :

{g) | only

{c) Both L and 2

(b} 2only
(d) Neither | nor 2

50
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The environment modified by human activitics is
called

{u) Marural environment

th) Amthropopenic envirorment

{c} Urban environment

{d} Modeim environment

Which of the following statement is NOT true

(a) Species diversity increases from equutor
towands poles.

(b) Tropics harbowr more species than lwmperate
arcas.

(c) Oreatest biodiversity occurs in Amizonean riin
foresL

(d) Species diversity decreases [rom tem peraie
arcas towards poles.

Which one of the Fullowing is the well known
example of bloindicator of air pollution !

(a) Lichens (&) Methyl mercury

tc) Raose plam (d) Sunflower

Which of the following is NOT comectly marched ?

(2} Desalination Sea wiler
(b} Reverse asmosis Potable water
{e) Dentturation Proring

(d} Pasteurisatin Ter

Which of the following 15 an example of herbicide *
{a) Sodium chlornte

(b) Potassium permunganale

(¢) Bleaching powder

{d) None of the sbove

The gas, which is emitied in the paddy lields and
increases the sarth’s lempersiure is

(a) Nitrogen {b) Carban dinxide
¢c) ‘Carbon monoxide (d) Methane

At which of the foliowing places is the Secreworint
of the International Solar Alliance (LS A ) focated

at pregent ?
{a) Parix {b) New Delhi
_ (&) Gunagram {d) New York

-12-
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67,

on solar encrey s

() Andaman-Nicobur  {b) Chandigarh

e D ) Puducherry

Given below are two stitements. ane is kybelled as
Assertion (A} and the other as Reasan (R
Assertion (A) : There is a positive relntion between
Human Development Index (HDY) and Suswinable
Development Goals (SDG) ranking of Indian State,
Resson (R) : The underlying dimension ot SD{G targets
wre closely refated o educaton and health aspe.r.
Select the cormect answer from the codes given below
Codes :

(20 Both (AYand (R) are true and (R) is the
correct explanation ol {A)

(b} Both (A} und (E) are true but (R} 1= not the

correct explanation of (A}
{A) is rue, but (K) is false
{A) is false, but (R) is true

ch
{d)

Multidimensional poverty index includes :
i. Heulth
ii. Educanon
iti. Living Standard
Select correct answer from the codes given below ©
Codes :
(a) Only i is correct

{c) Omly | and ii are cormect  (d) 1.1 and i ore correet

th) Only i and iii are correct

Arrange the following events in chronological order
of their commencement und select carmec! answer
from the codes given below

1. Wild Life (Protection) Act

. Biological Diversity Acl
[Ti. Project Tiger
V. Projeci Elephant
Codes 1
(a) LIL UL IV
(¢) W, T, IV, 1

by LUL V.01
(d) 1, UL 1,1V

The Vision
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70.
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72.

Under the Civil Regisuation Sysiem (CRSL i1 s
legally mandatory to register tirth and death events
within how many days i India 7

(a) 15 days (h) 21 davs

(e) 26days (dy 30 davs

National Family Health Survey (NFHS) - 5 does
not include

(a) High blood-pressure
{(b) Diabetes
(c) HIV Texi
(d) Registration of death

The Environmental Kuzneis Curve (EKC)
shows the relationship between per capiz GDP
and environmental loss. What 15 the shape of
Environmental Kuznets Curve

(a) Inverted “U* shaped (b) Tnverted *V' shaped

(¢} Inwerted 'L’ shaped (d) Nune of these

Given below are two statements. nae is labelled as
Assertion (A) and the other as Regson (B
Assertion (A) : Sustainable deve vpment iy
imporam for well being of humiu sciel y

Reason (R} : Sustainable Jovelppment in n
kind of development that meets the accds of the
present withouwt compromising the abilits of fuiure
generations to meet their own necds

Select the comect answer from the codes paven beliow

Codes :
{a) Both (A and (R) are true ard (R} is the
correct explanation of (A

(b) Both(A) and (B) arc true bur (Rjs not 1he
comecl explanalion of (A

(c) (A)is true, but (R) is false

(d) (A)is False, but (R} is true

Which of the lollowing Direct Henefit Scheme
(DB S has been recognized by the “Guinness Book
of World Record™ as the world’s largest Direct
Benefit Scheme 7

{a) MGNREGA

{b) PAHAL

{c) MNSAP
{d) Mone of the above
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(a) | and 11 yre Curreg]
{¢) Llland Q) are corret

With Fetereng 10 the Pt
which of 1y 1+'hllnuing &l
|

il Fing Secunty Ay,
MEMEnLs e correct '

s il coyvey Upta 75 percen rur.

urbian popgl and S0 percent

allivg
Il Special lucus gy

: M NULriTing
ard children al support o wemen

. Eldes WiOmgn of

abow : i
head of householy i SRR

Select the COfleg)

ANSWET Lo
below - .

the codes fiven
B 11 and 1] are CiMTect
(d) None of theye

With referegpe )]

Lthe measures of v Rt
in India. which ol I Tmnm}ﬂﬂmm

the statements Isdare Copreg
L. Regulation of reng

2. Security of tenuye
3. Confirment of ownership

Select the correct answer using codes given helow -
{a) 1 only by 1 and 2 only
{c) 2and J only (dl 1. 2 and 3

o0 endaniy

With reference 10 the functions of Public Sector
in India, which of the following starements is/ure
correct 7

I. To provide public utility resources

II. To build socinl and econumic overhead capilal

llI. Toensur: balanced regional and sectoml growth
IV, To pursuc egalitarian goais

Select the correct answer using the codes given
below :
(a) L Il and Il are correct

(by IL Il and IV are correct
(c) L II. Il and IV are correct

{d} 1. I11 and IV ure correc

In the Suez canal region, the correct _nrdr.r of lakes
lying from North to South direction is

(a) Lake Timsah — Little Bitier Lake — Cireat
Bimer Lake - Lake Manzala

Great Bitter Lake - Little Bitter Lake - Lake
Timsah — Lake Manzala

Lake Manzala - Greas Buter Lake — Linle
Biner Lake - Lake Timsah

Lake Manzula — Lake Timsah - Gireat Biver
Lake — Little Bitter Lake

(b}

{c

(d)

A5
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77, Telegraphic Platcau 15 a part of 77, wfniee wan fewwn
; ic Ri (a) I RAEH w28 T
(a) North Adlantic Ridge :
(b) South Adantic Ridge (b) ik geEifes wew =
(c) Indian Ocean Ridge (v) T TErETTC HTw -
(d) None of these (d) ¥ A wf
78. Maich List - | with List ~Il:and select the corre 78, FEI- I 16 ghfera it 7o R - fog
nnswer using the codes glven balow the lists ; ™ R # W@ I =
List =1 List -1 qeft -1 "t -1
(Different name (Country) (woraremrdra e & ()
of tropleal cyclone)
A, Willy-Willies 1 Philippines fafirs )
B. Taifu B Austealii A Tueh-fafea 1 ﬁwﬁﬂa
C. Bapuio 3. Japan B. ¥ i
D. Hurricanes 4 US.A. C. R 3 ST
Codes : D ®heH 4 YUAD
A B COD !
w3 4 1 2 = : f ‘If D
M 2 3 4 1 bl
cd 1 3 2 4 e I 3 2 a4
(G, 1 9 Mz a1 4
79.  Which one of the following elties is NOT located an 79. Tferiin 4 @ SR-8 v IR gataaia
the Trans-Siberiun mil roue?. W a7
(u) Kazan (b} Omsk {5 At oy
() Sochi id) Chita (e) Fr (d) R
#0.  Which of the following is NOT comecily maiched 80. Fr=fefism i & de-m uf i T8 % 2
(Wind) {Couniry) (T} am
(a) Santa Ang California i) T 341 m
{b) Haboob Sudan {b) ®™ H=R
{c) Yamo dapan (c) AT o
{d) Mistral Austrulio wh ‘tIEFI iﬁ
Bl. Match List - ] with List - Il and select the correct .
answer using the codes given below the lists ¢ RK E’;fﬁ;ﬂgﬁ . Hifor e gfedi & e
List -1 List =11 '
{Coal Flelds) (Located) -1 qei -1
A. Taichir I, Damodur Valley (T ) (TRt
B. Kamapom 2. Son Vulley A, wrEf l. T it
C. Singroli 3. Goduvari Vallzy B. g0 2 HR O
D. Singreni 4, Mahonadi Valley C. fmtefi 3. et uid)
Codes : D, fmeh 4 WErTA ard
A B CD e
@4 1 2 2 A B C D
® 3 2 1 4 E- y
= 8 a3 e} 2 ;, i
13 2 4 @ L 3 7 s
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BT.

Which one of the followin
India !

{a}) Gurla Mandharg
{1 Kamer

# peaks is NOT located in

by Namcha Barwa
td) Nanga Parbar

The winier runs caused by Westermn disturbxance in Nonth
Western Plain of [ndia Brudunlly

(@) Eastw West
ib) West 10 Enst
(¢} Morth to South
{d) South 1o Norh

decreases from

In which of the following rivers, |he LppRer course
contains fresh water but saline water Aowing an the
lower part ?

(a) Barak river
(c) Ghaggar river

iby Lum river
idy None of the ubove

“Moribund Delia’ is a subdivision of which of the
following Deita ?

{a) Krishna-Godawar Delta
{b) Mahanadi Delia

ic) Bengal Delin

(d) Caouvery Delta

Given below are two statements, one i labelled as
Assertion {A) and the pther as Reason (R}

Assertion (A): Stugarcane and sugar production n UP

is more than Muhuarashtra bul prductivity is less.

Reason (R) : Most of the sugar factones in

Maharashiro are in ¢ooperinive Secior.

Codes :

(a) Both (A)and (R)are true and (R) is the vorrect
explanation of (A)

(b) Bum{Mnnd{R}mtme.buuR}l.:nmthcmm:

explanation of (A)
ic) (A)is true, but (R} s false
(d) (A)is false. bul (R} is true

Which of the following is NOT coreciy matched

(1) Dam Copper com
{b) Desai Revenue Collector

tc) Diwan Revenue Chief of a province
(d) Jarib A type al tan
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THL T FE0(R)FE TR |

+eA (A I VRT B m=n e SE W 3R

TR § AitE R o TEem Eh

& (R - sevre 8 sifoswm e et sl o

o grfA # 0

L&

(a) FUT(A) TN OO (R 2T A ¥ 7o wEm(R)
YA (A) 6w wre d

(h) HEA (A) A WO (R T § g
(R)ywER (AR wfl sareRn T R

() A (A af }, B woR) ™M R

(dy @ (A)Tem &, fisg wwor (o wd &

Fifiafiam 1 & PR-m w8 fem ik 7

{a) W A il g

(ty &wmd T wftsTh

(¢c] dEE yida UFE W 9gE
() afE T W, T W
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Match 1oast — 1 wath List = 8 and select the correet

answel bsing the codes given below ;

List -1 List - 11
A, Mulla Daud L. Chandayan
B. Damodar Kavi 2. Ashiga
C. Somnath 3 Padmavati Katha
D. Amir Khusro 4. Rag Vibodh
Codes ;
A B CD
fa} 1 31 2 4
by 1 3 4 2
fcy 2 4 1 3
dy 1 2 3 4
Who amopg the fullowing kings had given
patronage to Tansen hefore Akbar 7
(8} Raja Ramchandra Singh of Bhats
(b) Rajbohadur of Malwa
() Uday Singh of Mewar
(d) Muzoffar Shoh of Gujarin
Maich List = | with List — I and select the correct
answer from the codes given below (he lisw
List-1I List - 11
(Ruling Dynmsties) (Capitals)
A. Pallava . Warangal
A. Pandys 2. Kanchi
C. Yadava 3 Muodura
D. Kakriya 4. Devagin
Codes :
A B CD
(@) 2 1 4 13
by 2 3 4 |
() 1 2 3 4
dy 2 4 3 |

18-

H9

LTI
88 Tl - 1R ER - 1R gk Hifog A g,
T 4 ¥ IW g
et -1 qei -
A e ZER 1 = mer
B. ZWE &4 2 i
C. vrAY 3 ouEdt
D. anfit e 4. 1m ity
L T
A B CD
fay 4. 3 2 4
ibr | i 4 32
Wy 2 4 1 3
idi | 2 3 4
fsfafee oo § 7 feEa s % g e
1 " o 7
fa) MTZI W T A A
(b} ATEra 1 ARG
() TS W IRy fam
(d) AT T AFHR TR
ot - 1 FgE - n® gt ®fn ok giad &9
ﬁquziﬂruﬂ'rmﬁ:
et - 1 et - 11
(i) (Trrart)
A Tog . AT
B 9vEa 2. w
C. aEE » a wga
D FHY a M
gL
A B CD

ftay 2 1 4 3
vy 2 3 4 |
€} 1 2 131 4

dy 2 04 3 |
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or, Amange the following monuments in a chronologicy! 91 ﬁqﬁmwﬁqﬁmimﬁﬁﬂﬁm

m;?ds:lmt ﬂ'i:cumnnswnrlmmuwdcsgiven ¥ = fan Ao el i | wdl T ﬂf-’ﬂ ;
| Rabia Daurani's Tumb, Aurangahad | Tifem i'?'“:" ) meE, HITTHIG

1. Shershah Suri's Tomb, Sasarar I1. FrraTR A 1 A, WA

1 Humayun's Tomb, Delni 111, Farg &1 "=, faweh

V. Auwals Mosque, Juunpuy IV, e wafae, A

Codes : He:

() LILIV, I (by IV, I, 1.1 LIV, (b} v, 1L 1
() I LILIV (d) 1L IV.1I, 1 ) 1L LY (dy NLIV.ILT

g1 With reference to Mansabdari system, which of the 01 R s % a6, - e w0 R 7

slements is/are corect 7 1 i
1. Mansabdan sysiem was the officiul nobility of |, FAwgi oeell T % g o & Han

the state, started by Akbar, o, Faa srwan 3 wmy fam
itl:lﬂnﬂ :::.sw:':::’nl;?lw codes pive e
below ! A A o e e @ ) YR -
Codes : e
(a) 1 anly (b) Both | and 2 (o) ¥ | (b 1 af2e
(c) 2only (d) Neither | nor 2 (c) =¥ 2 (d) T3t A2
93, Match List - [ with List - 1T and select the correct CO G & 7 - 1 gifem i o g
answer from the codes given below the lists : % 4 fer 0 9 & W I S
List=1 List—1i et -1 -1
A. Treary of Allahabad 1. 1782 A TwEER % Fi 11782
B. Treaty of Manglore 2. 1784 B. TEn % Hiu 11784
C. Treaty of Salbai 11769 C. g HiY 31769
D. Treaty of Madras 4. 1765 D, mm & wHi 4. 1765
Codes : L
A B CD A B CD
) 4 2 3 | W 4 2 03 1
m2 4 3 1 2 4 3 1
@4 21 3 ey ¢4 2 1 3
@ 2 4 1 3 2 & v 2
9. Arrange the following events in & chanological = m %Ténﬁi?i ﬁgﬂé %ﬁ‘:&“
order and select correct answer from the eodes given 5
below : |, T e
l. Poona Pact 11 rﬂ"ﬂ"‘ﬁq HH'!‘H"
Il. Gandhi-lrvin Agreement . fiw e
fll. Cripps Mission 1v. afama s EeR

IV, Civil Disobedience Movement =
(@) v, . u 1

Codes :
() Iv, m M, F:I by I IV, Ll
() m v, L (v, 1,1, 1

@i, m L 1
@m 1 v I

@ o Low,
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7.

a8

59

1060,

Waith reference o the Uil Admunisiration in [8905,

which of (he stilements is/are correct ?

I Lord Curzon decided to rearrange the
provincial boundaries

2. A new provinee was constituted, called East
Bengal and Assam.

Select the comect answer nising the codes given
below :

(a) 1only
(ci 2only

ib! Bath | and 2
{d) Neither | nor 2

Who prepared “C.R. Formula" to remove the
political deadlock between Muslim League and
Indian National Congress ?

ia) Jawaharlal Nehru (b) Rajpapalachar
(e) Chittaranjen Das (d) V. P. Menon

“The Rise and Growth of Economic Natonalism in
India’ was written by

(a) Porths Sarthi Gupta (1) S Gopal
(c} B R. Manda i)} Bipln Chandra

In which of the followmg “the provisions for the
protection and improvement of cevironment and
sateguarding of forests and wildlife’ are found in
e Constitutlon of Tndia ©

Gy Omly in the Directive Prmciples of State Pubicy
(b} Only in the Fundamental Tnes

{c} Both (aiand (b

{d] None of the above

With reference 1o Panchavats which ol (he

stalements i1sfane carrect

| Fifty percent seats shall be reserved for the
women of SC/ST categories.

2. Gram Sabha is u body consisting of all persons
liwing in the village,

3. There will be a Panchavat at intermedinie
level,

Select the carrect answer using (he codes given

helow

Codes :
ta) | only (b) 2and?3
{c) Both | and 2 {c) Jonly

Mazdoor Kison Shakt Sangathan (MKSS), a Social
Movement has been gssociated with which of the
following in Indin ?

{a} RTE Act

(b) RTI Act

[c) MGNREGA

{d) MNational Health Mission (NHM)

95

Ok

09

sl wmE 1905 & ol A, - A e R

| md a3 wida wnmsd @ i = W
fauta femm |

2 i w30 SR AT U A S A=

SERCRIE TR L

(a) &ae | fhi | 30 2EH

(¢) e 2 (dy A a2

qfeem =m ve and O FEw & de
e nfey F1 g w & e - Ham

(a) FEEETH JEE (b) UM

() R T (dy <. 9. T
- & 5w weE vy #iw A SwAeem W
sfozaq & ot 8

ia) wel wefi A (b) WA, M

(c) 1. FAA. T iy fafm 5=

frafafan 2 0 wmm = afaun & et safem
|G WE HoUq 7E 99 § 99 199 i 1 &
SrEE v e B 7

{a) #Fc  & AHify FEvwm A A

(b) FFA £ T §f

ted {a) T (b=

(dy 9t A | w1 T

e "a:w;zﬁmﬁhnﬁﬁm—mmﬂ'ﬁ%fiF
| w=mm iz srpsfam aife ) st
-1 & wfeensi & Fow amfia @

2 R w e T R Pl nia & weaE i
iyl il i

3 TSHEA] S W o gara 2@ |
ﬁm“ﬁlﬁﬁlﬂﬂmﬁﬁﬂﬁﬁmﬂﬁnt
w”:

() e |

_ (b) 27 3
(¢) 13 2 =t

(d) Fae 1

T R A W (MKsS) T e
Wele, A A P & 3 fasmd waifim R
fa) mz’ri ﬂﬁ!ﬁ'ﬂ'ﬂ
(by 3 A, 3w, rfiafiam
(e} T (MGNREGA)
(o) T T o (i
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s,

Matwnal Sonzyal A

include the folli, Mrogmmme doe
; | ng sel . . € Hoes. piot
Ling ™ howse ol B scheme o Helona Moaverty

i MNutional Famyty B '
¥ Bene .

(i Anmapurms tefit -l"l.hun.:

el Mahila Kisan Sashaki

(Wl Allof the above

bstamgee

thiran |7y Vo ma

Wi sand “Indiy is gy Quasi Fedely| St

g
(4} Lowd Bryce LU T Janmigs

ich H. L Laski ) K. O Whears

Arrange the fallow)

Sy TE EVENIN 1 g ¢ '
||_;|.1|_I- And selectite Skl _-gn,“-tllr:.?"Ilrllu}_“ II.:!
given below M the codes
. Muharaja Har Sin

gh signed ¢ ; ot ol
ke ok Bh 51 he Instrims 41 o

Il Constitution of India was enfiweed.

{1} A:.:ccs.‘.u m to India ratified by the Sovereipn
Constituent' Assembly of Jammuy aned kashmir

. ashmir,

New Constitution of the 81
Kashmir came into foree
Codes :

(a) 1, [L IV L
wl LLLLREE 1V

are of Jammu and

thy M1 1.m
Car TV, MRS

Giiven below are two stitemenis, one is libelled as
Assertion LAY and the ather as Beason (B
Assertion (A) ¢ The Supreme Court of Lndia has
exviusive purisdiction regardimg Constituhional
validity of Cenirul lnws,

Reason (R) - The Supreme Court s the Gueurdian
ot the Indian Consunnm,

Select the eorrect answer from the codes given
helow :

Codes

(1) Both (A and (RY are true and (R is the
correct expluanatan uf (A

Both (A) and (R) ure true but (R) s not the
conrrect ex p|;||'|.;1| it of (A

(A 15 true, bur (R s false

(A s false, bat (K) s lrue

by

1]
idd)

National Panchayati Raj Day in India is celebraed on
(b 2 Dcuwber
(d) 24 April

() 26 lanuary
(c) 21 Apnl

Which of the following Article wus inseried by
the 4274 Canstitation Amendment to provide for
participation of workers in management vy

{e) Article 38 fh) Article 39A

(c) Article 45 {d) Article 43A

-2
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12t anuiiwr e wden o R e 8
14 = fan fey wetwn aftafas @1 2

() T aftan T S

(b g

wo ufeen e wefaasm ofefiaT

ids IR i

‘a7 @om, W nw s -smrees T B 2
i) AL wEs by g 3
o) LA SrERT idy . H. =

AR g ) ST 8 et Sifiw sk
A fem 952 5 @ uft s g

I wwnr eft fae 3 fastm o3 @ e fgm |
1. e 5 wfqum @ g |

L1 e -t = & w3 wmE
a7 faera = yml

IV, T e SR T A EEEE AR R
e -
fud LIV I
el I TV

iby LIV, L1
dy IV LI

At &1 e o o # faad om @ e (A) A

FHU ] TRV R) FE R

TWEA (A1 Tl FEE ) HTEa R e & gaw

H Wi & W martesa @ A= wiassie B

WO (H) T R RAE 3RS S e |

SRS AR R L G o

L T

fa) (A)VAE(R)EET 58 & du Ry waa (A)
HA =y #

(b) (AT () B R W (R) A (A) B
gA sann G4 A

() (A EA R A R TEa R

() (A e R Fed R wd 2

wrRA O T o T fEEs s anan @
(a) 206 sWai & (h) 23mgE R
icy 21 wie = (d) 24 3l &

42 & sifaum e g fe st & o @
wiis &1 v i srfveft gffem & o

(4) T I8 (b) HIEHR I9A
(¢) TeRE 43 (d) 3TEITAIA
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Whar1s the legsl nawre of the Preamble of the
Caonsttution *

(@) I s enforceable

(b Ivas not enforceable

(el It may be enforced in speciel ciroumstances
id) Noee of the above

Which of the fellowing is correct about the heading
of the Article 162 of the Consutution of India *

1a) Executive Power of State
(b)) Conditions of Governor's Office
(¢) Term of the Office of Giavernor

1d) Extension of Executive Power of State

Which of the following temples s also known as

Khnjurstho of Vidarbn 7
in) Markandeshwar (b Kailosh

(e} Manudew (d) Bhimashankar

Maitch List = [ w it List - 1T and select the correct
answer using the codes grven below thie liste :

List=1 List =11
i Ty phoon | Most
Hurricone August-  affected country)
September 2009)
Iarian | Hahnmas
B. Hagibus 2. China
. Lekima 3 Jequ, South Korea
. Mitg 4 Jupan
Codes :
A B CD
fay 1 2 4 3
iy 1 4 2 3
fey 4 2 3 1
dy 3 4 2 |

In October, 2019 India announced o establish a
High Commission in which African couniry ?

(b) Gambia
{d) Sierru Leone

(a) Benin

e} Guinia

107

|08

1

AR A

w1 T 1 s EEy R g
(a) war:;fﬁmmmt

(b) TR AT T ww R

(o) faim wiifeafa @ =mp fFn @ g R
{d) Wﬁﬁ#l’iﬂ’f

sl il ® e 1624 3P HAY
i e A - R

(a) m#mﬁ

(] TR wEer & o e

(¢} TTFEETE H gEEy

(d) T A T sife

Frofeta @ e s W el F wa &
w9 & oft W A R 7
(1) ETETET
{:Jﬂ?‘ﬂ

T - | FHR - & Y TR T s
gfal T A= fe m 2 7 Ad @ g

(h) Sl
id) et

- | -1
(AT ETEA imaffi warfem 7m)
st = firmar 2019)
A Ffmm | WEWH
B Efay 2/
¢ =fEm 3, W, T st
D, faem 4 AE
L T
A B CD
fal 1 2 4 3
by I 4 2 '3
fc) 4 2 3 1
d 3 4 2 |

T, 2019 W 3 fem ) 2w A4 W
I=E fen w0 & g R g

(n) whm () mieEm
(c) v (d) fonm fyaf
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iz al the 1y MR the gy 4
] P the Ingy, |III:ILI'..3[I||':[ . L“mg\mm'\'
- Tamil Ngg,, b les 2019 9
Iy

"h-l'i-'ltthll:.q

X+ *!lll‘p;jn]'
’ ld) il“"‘”“" ik
wladkg

I'he auithn Of the H""""iu_’rll‘

i : Y
Ciirl, “"-""".'rl., Other . & Winng
hl

y ]'-'I"-‘l'*nllk'r.
(F1Y] f\-lur;_l,.irel _.!U_p_,'-”d thi Glit
zh

| ":Il.‘ll.ik
el Salmyun Ruskdse

y Bermag e Ey

Whom dig PV Sindhy he
ever Gold

R
o Lo wyp e
Medal toy Inidyy i

! I Women's Single
( fampionship 4

Radmintgy
[ the final ialch

(@) Caroling Maurin th) i T, Ving

lch Nuz.-.ur'n{!kuham id) Nl!l‘lﬂiii"l‘t‘hr_"

Which hydrapowe plang in Bhur

WS g g rikesd
recently by Indigr

Prime Minister Noeen, ra Modj
(w1 Chhukhy Power Plang

(b} Dagachhy Power Plynt
(¢} Kurichha Power Plan:

(d) Mungdechhu Power Plant

Which among the following was the tiest 100 percent
organic state in the world ?

(u) Queensland (Austrulia)

(b} California {United Stutes of America)

{e) Sikkim (India)

(d) Quebec (Canada)

The book *Venushilpa' by Chitracharys | ipendra
Maharathi relates 1o which of the foliowing form of
arts 7

ia) Jewellery
() Bambono art

by Painting
(dy Marhle carving

;u.;url:ﬁ:d

ik who has been
Para athlete Deepa Malik, who has lungs to

Rajiv Gandhi Khel Ratni Award 2019, be

the sport
{a) Badminion

{ch Shot put

{b) Discus throw
(d) Weight lifting

23
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A AP & s, WA § FaTE g 2019
% Feafirfis 3 & wt-m ey vk 2
rn?ﬁﬂ.mr;

T thi HEmme

() BT id] FAlsH

T AEA W 2019 TEs o, i, s
= T | Aftg &

laj 4112 e by sfam T

i) HEWE T () =R farte
fﬁm%umhﬁﬁzﬁmﬁqmmaﬁm

raﬂmﬁmﬁ?zfﬁqmm fig 2 wrga= A=
B fEw g -
(wy e wrfra
1uiﬁ=flii'f§|!m
Nt ST T W g e @ e 8
w1 faxya alai | g o e v

(a) g faem frares

(b &g fom afaren

(1 whw T i

(d) Fwery frgm ftaen

frerferiam 4 & S9-w 7= 2fw = we

Lo wfrma Haw = # 0

(a) WEtERE (e

(b) Ko (wgem mew )

ic) fafesm ()

(d) FEF (FATET)

(b) 13 3 fm
1dy T8 H w12 T

ferrrd 3t W) o g A a Hey
frefafmanafsa s n g 7

(2} ST IREE

jc) WTE Fen (d) HrrRT i wn

fr etz A wfer, g =d 2009 W i i
e (e o e T 8, fe a8 eefua 7

(o) Az (h) e

) Tt He (o) ST
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123,

United Nations Climate Action Summit 2009 was
held at which of the following Cities 7

(a) Paris

(el Doha

(b Genewva

(d] MNew York

Use of polished rice in human diet causes the
following diseuse
(a) Beriberi

{¢) Night blindness

by Goitre

(d) Colour nlindness

Which of the fallowing pairs is NOT correctl
muiched &l ' 4

{Vitamin) (Rich Souree)
ta] Viamn B, Rice bran
bl Viomin B, Cod-liver il
tc)] ¥atamin B Wheal germ oil
dd} Viamin K Alfidlfa

Given helow are two statements, one shelled ue
Assertion (A ) and the oiher as Resson (R

Assertion (A} Most of the vitdins sie nm

synthesised in human body.

Reasan (R) . Humun organs synthesice anly

essential micionulienis.,

Sclect the corect answer from the codes given

belovw

Codes :

tal Both ¢AYand (R) are vue und (R 5 the
cirect explanution ol {A)

(h) Both (A and () are true but (R s nol the
vorreel explanation of {(A)

() (A)is true, but (R) is false

id) (A)is false, but (R) 18 true

Miaitch List — 1 with List — 11 and select the correct
answer from the codes given below the lists

List =1 List =11
A, Kevlar |. Explosive
B Tasol 2. Synthene fhre
€ Zine Phosphide 1. Anticancer drug
. Nitrocellulose 4. Rodenticide
Codes -

A B CD
@y 2 4 3 |
(hy 2 3 4 |
c) 4 3 1 2
(dy 3 I 2 4

(BRI

o W TR Y FAAH A 2019 H

121

st Frey 0 @ fa we o a7

) TR (b) AAdl
e iy AT
20, Ha SER A e f ¥U AEE & J9dm 8
faerfenm 101 #1 e
T G il (b) HH1
(o) T (d) e
Frferfig & & S -= I = g a8
NEAILED (g A
() Prefaa p, U
(1758 #7)
(b fawi b, -1y 1
) EmE E ﬂﬂ Fpl A
gy faafms K Uethlc ]

Ha 21 @ fen mo B S e W S ()

gl ® FO (R)FF T4 R

we () wiuwm fEEhE gea i @ Rveten

7 fEn A #

BHNR) W H e 3FEE g O &

Al AV &iF R |

A1 fam &2 = & @ 3 g

T

(A oren ) 21 A e Ry A F1 B
s R

(b) (A) 771 (R)Z1 6 § 90 (R) A (A
HE suEm T £

o) (A)y|R ihﬂ:ﬂmi

i) (AT R R Ry R

B 19 g 1 g i i &

et - | T - 11
A EEem | farwhes
B Z@ais 2 wyEiNE T
C. s wrees 3. &ETd zm
D. IRy A TrEvEaE
¥z,

A B C D
i 2 4 3
by 2 3 4 |
wy 4« Voo 2
iy 3 | 2 &
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A sample o any

Sl
drSAppears ufe, b the tul)

My, ine
_ el e S SUbstanges
Lumph. i, ”"P'Iih.ﬂ{:” i Whiey, A posed 1 - =]
— LT =My ke
i oculled Wage Fhis Phe :
RLLES TR

Ll ‘-\.tif~|'|ll1-trlulu thy |
o |1|Ilu.\|llﬁ e

Wy @

Rle) T

¥s
Foral Mlern,| reflee ting
thy Init

tatl

dllion

il H-‘;,rltrun:

el RL‘l'iiu'!mn

Which of the fall

DWIRE Slalemengs b
EMEy e jsf

S corregy

I Thew urg bBrocataly s

, .

= They perform their dCting
they are prodi ed

aclect the correot arswer 1),

b fowe

N dhe site s

/m the codes piven

Codes ;
ta) 1 only (h)
el Both | and 2

2only
fdy MNemher'| nop2

Mather's milk provides almost complete diet to the

new-born, but it lacks the fullowing
by Tron (hy Culcium

([t Magnesium (dl Potassium

Arrange the following substances in chronologicil
order of their first synthesis i Jab

I. Black gold

rJd

Fullerene

3. Gruphene

4 Kevim

Select comec answer from the codes piven below
Codes :

ta) 1 2 = 4

by4 2 3

€y 2 4 3 Y

idy 4 I 2 3
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Wl e

126 v=amet & ged & Reafea s 8 8 aem
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©) | A2 (i 37| A @2

27 R S e b
o AEfiEn | i g

|:1'J| =ﬂl 'h] &iﬁm
(cy Aedtiargy id) meferam

128 fpafefad serdt @ 9% qweh an wivmen 4
Yl & TR S S
| = s
el
b ag!
Faan
#ta fan w1 gz 4 0w 390 900
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ihy 4 N
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30

[

Bihtwouneny |«
vy buniction of Library Netwaors
ik
ich
idi

Information Managemen: Seivice
Information Manugement Tool

L.ibrary Service

Which one of the follnwing s associated with
“Albeda’

Lad Transmitting power

ib) Absarbing power

te) Emisave power

td} Reflecting power

With refercme w the Dee 1 Carbaon Chhsepvatony (200

which of the following statements wlare comrec:

I Ttis Global Rescarch Programme w outreach
role of carhon on canh.

2. Lt conducis feld obueryatmens uf deep
microbial ceosystem,

Select the comect answer using the codes piven

b low

Codes :

{a) I only

(cy Both | and 2

{hl 2 omiy
id) Neither | oo ?

Which of the following is NOT comectly matched *
(a) Cartagena Protoca|

ib)} Stockhalm Convention Perssient
orgamic pollutant

Brosatety

{c) Montreal Protocol Uzone luyer

idy Kyoto Protocol Save water

Gniven below are twosiatements, one s [abelled as
Assermion (A ) and the other as Reason (R
Assertion (&), Maximum number of the species
it hutterflies e tound in foopcal countnes

Reasan (R) . Butterfiies can ool tolerate Tow
e mperalunes

Select the carrect answer nsing the codes given
he i

Codes :

fal Doth (A) and (R) are true and (K8 the comect
explanation of (A)

(lv) Both (A} and (R are rrue but (%) 18 tot the
courec ! explunntion of | A)

fed (A 1 true but (R s false
td] (A s false bt (R 05 true

120

R K

OAFE0 A

et # 2

(o) THFHAY T5a® &1 F
(h) HET TEYA Hal

I¢) HEF TEOT ITHT
(d) YERTEE Eal

fafafes 4 7 $9-m TediE) | mwfia ¢ oo
(a) AW rfan

{by wafER fedm

tﬂM’rﬁa

id arad &1 mfEm

meft F1aA Avyne (€ ) & wau § e

el 8 H @ wd AR

| aF Af7eE SAAYE Fdwn 9wl O FEA 6
it #1 3 @e & faw R

1 mg MEf digRTeas grifEefae T & s
ya-taa & faw #)

A9 fou e &z @ wd T Fw

’¥=_ )
iaj BRaE | (b a3 2
et 137 224 fd) A 1 sfradA2

frafeafed & 7 w9 -w1 56 qafem g 2 7
(a) FIEAAT WA T

(h) FTHEM Sofed W s e
(¢) TEAE T AT o1

id) T2 TIETw TN

e 3 Fy= fow ™o R Fm 0w = FE (A A
ZAL ® FW (R FE TR

WA (A IRty T A fafem) & gl
wdiivs vem 3 o 3 §

W (R fAafei s Ao 0 98w ae B
= for 920 F @ o T s i
T2
(W (A (R)EET wE E T Ry R (A8
T =

(AVAH (R)ET A7 R w (R wEE A
HF1 =amEn TH R

(e (A ER R g (R) @ R

idy (a)ymEm R e (R)a R

ihi
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136,

137,

128,

139,

140

The amount o
[ eneryy duning 1ransfer from ane
N T
Anhier in gg Tuosysiem
(a0 Increages f

o level

by Decreases
lcr Remains consang

b May increase 5 decrease

Which ol the fg) lowing

: % I'Lti,.;'pgim,-_-d r %
mitrogen fixation s

{a) Red algae (b] Brawn algac

(€} Green algae (d) Blue green algac

Smog 15 essentially caused by the atmospheric
presence of

fa) Oxygen and orone:

(b) Ozone and nitragen

() Oxygen and nirragen

(d) Oxzide of nitrogen and sulphur

The "Global - S00° Award 15 given for rare
achigvement in which of the folowing fields 7

{u) Gene preservatiion

(h) Environment conscrvation
{c) Population control

id) Pollution contral

Black-hole is

{a) 2 flight recorder in acroplane
(b] a spot on the sun

{c) aplace in Antarclica

(d} acollapsed star

The most biodiversity rich area in India is
(b) Truns Himaluyas

(d) Centra! India

{a) Gangetic plain
{c) Western Ghats

a Nodal Instilution (or

; lowing 1%
Which of the following gvelopment Gonls

implementation of Sustainable D
in India "

{a) Planning Commission

(b) Disinvestment Commission
{c) NITI Aayog

{d) Finance Commission

The Vision
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Lig

117,

138.

139,

NJL-1-19
et v i v ey 2w @ gt o A
TR A FoAl & AT
ur wgdl R
(bt ®EA R
1] WTF#I*

id) g wEA R @ we wwd R

frafefem 8 & o -m Y e Guto &
A b 0

) AR faEE
(¢ & e

(b ‘\{I'Tm
(i dren-zn frar

gﬁ{gﬁ]marﬁmﬁiﬁﬂﬁﬁﬁﬁﬁqﬁiﬂ
1 Fafrufa & wwe 7 R

i) wigfias mn AT

(hy FYAr3 Am TR

(¢) o ) TR

(d) TG AU FEw H NTEEEE

Pty al 8 B fisend 75w awEfie % P
Hfwae - sov Esn R R 7

(a) W= BIEm

(h) TETETm FEN

ie) TR

(d) ¥eEm Frem

7o -fam g &

(a) FETETETS HY T W wiEEw
(b) T T e

(¢) Warfd & % I

(d) Torme T A

yre & men Wiw Sefafium dum o d
(a) T = Fw (o) T Farer
() WiTest arz (d) eI WA

Freyfarfa f § ¥3-a wiw 3 gon fawm o
* s & fr o Fwe wea ko
[B]mm

(b) Fafydm smam

(e1 T amam

(dy fam
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Arrange the following Committees formed for smal
scale sector in a chronological order and select the
correct answer rom the codes given below |
L Navak Committee
Il Abid Hussain Committes
L 5.5 Kohli Commiitee
IV, Karve Committee
Codes :
@) LILTV, M
() IVLIL LN

) LI LIV
(dy LU, memv

142, Maich List - T with List — 11 and select the correct
arswer using the codes given below the ligts -
List-1 List-11
(Programme) (Launch Year)
A Natiapal Programme I. 1975
for Control of Blindness
B Inegrated Chilg Developmemt 2. 1976
heme
C. Natignal Leprosy 3. 005
Eradication Programme
D. National Rural Healih Mission 4. JOK3
Codes :
A B C p
ta) 1 Al .
2 a4 | ;3
ey 2 I 4 3
idy 4 | 3 |
143 Given helow are 1we Slitements, one (s labelled g
Assertion | A) and the other as Reason ().
.-\sserliqn (A The labour foppee Peticipation raje
rI‘Jt:mg snurply an the tecent Yewis for females yn
i [
Reason (R) 2 The decling in labour farce
PUTICIPAtIOD rale 15 due (o the improved Family
income and increase in education. ’
%EJ:;;!?E correct answer from codes given belny
a} Both (A) and (R are true ang (R} is the
comect explanation of (A}
(b} Bouh (A) and (R} are rue by (R} 15 net the
carrect explanation of (A1
{c) (A) s true, but (R)is falee
{d} (A) s fulse, hu (R} 18 true
144, The b denc o i i :
bmamcpen ey Ratio in Indiy jq dttllmng

The Vision

-18-

[d]

142,

14}

O A

o w3 forw o S el @) g
ﬂﬂﬂﬁhﬁﬁﬁﬂaﬂlﬁﬁmﬁﬂ_ﬁﬂﬁﬁﬁ
g .

1. A wiafa

1. i wita afafa

Il vA. A, FEe Jhfa
v, &4 \fnfy
(a) [ 1, Iv, 11 ihy ULTL LIV
(e} IV, I 1, 1T (v LT Y

g |ﬁﬁﬁ~[lﬁ@fﬁﬂ_mmmi
fta faw m $21 & w6 3 gfm
et | et - 11
(FTEET (T =)
A w9 o g odm w1975
b wHfm T8 fawm g 2

2 1976
C. W = Favn Fd®n 3 2005
D e onfie Emes fis 4 1983
L T4

A B C D
{a) I 2 3 4
(002 4.4 iy
iy NSt N
CTIE S T
ﬁ&_mﬁqmﬁ&qﬁmﬂmemﬁm
TR FRT () Ry T B
mnm:m#a‘q’iﬁmﬁﬁqﬁﬁraﬁ%
mﬁwwﬁqrﬁﬁtaﬁﬁﬁhﬂazm?f
mnq.:mhmﬁwnﬁfamﬁﬁ
mmuwwﬁmﬁaﬁmﬁmmm
%ﬁfﬁnﬁﬁﬁammmmiﬁq:

L&) (AjEep (R 7 a# ' (A
i A _ %tﬁ{mmm,iﬁ

(h) 1_&1W{R}il=ﬁﬁﬁ3 [
i AR T (R) %R (4

€1 A1 7A B, e (R) 7o &

(d) AT R, e (R 2
T i
? ifs

th) ﬂ.ﬁiiﬁlﬂ‘ﬂlﬁmmﬁm Wit 3

HuA (Dependency Ratio) 2 18
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147

148.

149,

Which of the following Sustainah]e
(SDG) will wargey 4y Witer avajla
PEMMARE L iNunageme, upter 2

Development Gel
bility for all and s

30 in Ingig 2
) SDG -6 (b s — 7
L) =7
lc) SDG —R Wy SDG - g

:::::PTI:S .I;‘Tf'll'.hfm“d:d the concept of “Limi 1o
i) Club of Rome

iby UNESCO

(€) Brundiland Commission

idy Agenda 2|

The num_hcr ol persons who remained unemployed
for 4 major part of the vear iy called

(4) Usual status unemployment
(h) Duily stams unemployment
(¢) Weekly status unemploymen
(d) Nane of the above

With reference to the Corporate Social Responsi bility

{CSR), which of the staemens isfare cormect ?

|, Companies Act 2004, introduces mandiony
C5SR.

=]

. Companies covered under this will have (o
spend atleast one percent of their annual
nct-prafit in the activities under CSR.

Select the correct answer using the codes given
below :

{a) 1 Only

(e) Both | and 2

(b) 2 Only
id) Neither | nor 2

Physical Quality of Life Index (PQLI) 15
developed by

(a) Morris D. Morris (b) UNDP

(¢) Mehbub-ul-Hag (d) None of the ahove

Whatis the India’ rank in the Global Hunger index
(GHI) in 2017 ?
(w) 100"
(c) 104th

(b) 101"
(d) 105"

+25-

L

147

148

149

140

NJL-1-19

e 3 @ w0 e T8 6 (SDG)
WA § 2030 7% W % fau g A ITeE
N o o gEa @) @RS A 7
(a) T B -6 (h) wH & Ai-7
o) W E A (d) wa & -9

wafe & drm it waunm w1 wfe fEE
i) faen man w7

{4) 79 WG TR

|h1'ﬂ3ﬁ‘31

fc) FETE wWEm

{d) uFvaEr 2

= & wivmm e 4 dsm prEe =i
=1 W w FE A &

tn) W fafd F0mmh

(b 2 e temd

() mree fRafy Seemd

(d) Tt § § i

Fime gl FeTees (CSR) & vl & fi=y

fasR-arwm ol 28 7

| ) o5 2004 3 BvE.am,. = afEE e
firn

2 gEh ST FFEE R e g
AW W U idee W oomam, nfafafie @ =y
T E

4= o %21 2 2 wf 3w =1 = i
(ay FEA | (b) &A™ 2
(¢} 199 2 %A1 (@) AWM 13ia P2

Fran £ iffs TEE s (N we.an )
foas g fawfim e & ¢

@) wfg §.owfm b LEAd,
(c) HEAM-IW-FR  (d) IO § A &

yra w1 Affes I gews (. 7. ag.) 2017
Hamear R 7

@y 1004
(c) lo4dl

(by 1014l
(dy 1054l



